il
[l

=
T

I
0

mill
Il

HI
o7

ke

)
K0

iol
0K

LHA
411, 405
LH-
411, 412

o=y

124 0lat

ab=y- N
(10:00~13:00)
(10:00~14:00)

3E~11E

X
A

o

=

O AHLO

k

L= 31k
HHEET

.A._u
jol
K0
OH

Ol

s o

1l

S0 12 A0 sHE ol S8t B

00)

o &
B

KES

E|
Ok
K

(10:

10

ol

£l
i

ro

jol

iol

00)

o &
o=

KES

3:

31
Ok
ro
K

)12t &bl =&

=
(=3

NE.yli,

oh

oK
£
0H
Mo
Ki0

rr

jol

A=
2 SkAL
-1 OO

3

1)
I

(TOPIK |
|, EJ1, MJ

S
=

=N
2

3

o
[
[

ot=
ol ot

MIE]

CANERAH | HEREAEUT AR |



nil
R

oFJ

)
OH

<0

LH4
401, 403

LH& 402

2|

K&

1=

o4 1
22t

0
=
=

=
(=)
st
=

2|

¥

f

(=]
—_

0

k

X

——

| &EWSI AL E

DS, THASEMHIA

o
=
4EHO0IER

CH22HE THAC F M
AH&E & HIZOE OHl

NP
Hus,

k

CHEehHd
(Z=0[2IXL
o XHA,
S e=IHL)
XHA
(BF7MI~24X1)

CHE8HE

=
o=

2k 12M Olot Ct

SAl
b=y 9N

|

=
—

o

o
—_

-I!

=y DAL

‘X
rhls

o

HAOHE U ZIZT]

LH4
402, 404

[0 571

ot
-
(=]
|

9|
Il

=S T

or 01 80
I P
Kol m
ok K0 =<
for 1ol r
RER =

=i

3E~11E

‘CHHES’

=\

3

CHRSIIETHA J1%
SHa TR

LH &
402, 404

ol ‘=2’
o T—o9

CHE S THA
Aelgers MEH

21

ot

ify]

mil
r

—7
HI gl
ol
wf
uir

l
&1 I
OH &

= o
alg

JE
GilH

=L

2H8Al 0

3E~118

S orl
ol
K0 Ol
=JE

LlaEH=
81,50
S 1113 r
o=
<Fon S
~ilzo3F
S 0= ol
OE<1 o0
X OR0
Solxl
=L
K0S ™™
~olx

Kir Kir o
S
ool )
Tl
&&%E
ool
_._._._._._._._._._N
ST

KIF kI RTEH

LK
407,408

LH &

LIsS A
‘SH =

408

od
=)
104
(1l

3E~118

writer

o=



2IIEESAE
Abdf| 2tel

IElmp]E

N

JIIESAE
SHRBIS ()’

=xna

3.8 AL

Il 2!

28~11¥

3/11~7/15
(OH== 21

38~43

38~108

3E~118

3

24
=

riok

OI=0d

SHAS 100%
Olor 24 X
(HAS, s,
Z=20121TH I,

SSH0IEFD 8)

= -
LSS THEA
HIs), =Xt

CEFJIEMH
JIIES A
CEIX0

oOT T L—
S+l

14

A

DIESE NN NISHS AL 0S4 AN S LS

D2 ATHE: 190 HOIAE 63171/

291 014} JHE AR 108171 (M SIS AT 2 Ate)

*[HBIALEL
2Ol 3 Zo| AU Y SIS Y3t (HEHTL.
=3 8J], IS 37| £ 28]71(2171 1008)2
HUATIS oh= M HE U HZO| BH HLS M3
0| |Z0ILt BH SOF XHAQ S A
of= Ho| M=E T|RIEk (N, HILHH)

- HJIN HYDLS Sot ASH|01H B 0

- DISETHA 213t ST

AN

Ed

(£ 108A12t/90%01&

IIZANY |2US L ATas, s
= |
= =

XHAStSE M, 215 THS

HEHI(BABRE

B
=t
n.',
o .G
0%
>
=
o

SRS TIER Y "2y 22 HEHI0IM 3

ol U2 22 2ST

20259 JIESAIE EHA. SAHIS,
JIEEA, HLAHES st SAt

=)
=

X|sH

o

3.8 MANZ= A

EEPILEHE

LH4
202, 203

LH4
202, 203

LH &
201

LH4
202, 203

LKA
211, 212,
213

LH&d 213

LH&d 213

LH 4
212

LH&1212



IIIII
0I'J
g

=
oz

OHOILk2tS

JIESHHE

0%
HO
=
[Ho
04

DSOS

O e
xA EERUL
cELizeon M B/
151 (1?]#);9"51%?0]
4 =
OFOIL{&E;E“-— (10:00~17:00)
i E~=
Cwocmogsy (10:00-18:00)
CEA0Ig = =
=705 (10:00~17:00)

0= 2t/= Okt

(19:00~21:00)

i ot~3
340 i 2
wetgzbz (19001500
1S (10:00~17:00)
2 e
22 2013 > &/=/5
= (=]
(=13 (13 30~17:30)
AAIR2Y)

3/18(gH)
09:30~11:00
3/19(=)~3/21(3)
19:30~21:00

OH o Pt
om on o

L
(AN T2 2]

- Q0071 XHd JHE [H4 DI =0l
[B2r2gIRHISES st o
[DXIR] EEHS THOT MHIA
[ZQ0INRIBSS0IES 2
[aAIZ 202

S0P XHA JHE hat 22
EREEWEEEERL
(DX 2] HEHS THO! kl
[ZQ0INRIBSS0IES
(AN T2

- BIHR B
- Z0| #LZ0| BHST)
[S2YITHASZE st O
[@XI 2] HEHL HG] Ml
ELPOINENEEE
(A Z2 2]

- MR BHST)

- X ¢IZEQ| DS )

[@

[E0ITI~R]S

e re

ra

& HEHY K 'IHIé

s=0l==

MO
(=)

LH& 301

Li& 302

L& 303

Li& 304

Li&1 305



HEZHAE

OFOIESXI AL
mE 2
OISEXEAY  9F

(19:00~21:00)

(19:00~21:00)

(19:00~21:00)

Xl

3/18(ah

3/20(=)

3/31(&)

Ak
o

CH

oF3HE 018

2k 124l Olot Ot

o
TEEY HMX A s T 0Hg 2HY
BI(Z2)E X0t SSu=E L HE H=E &
et HL Al &S
1200t29] AZSTS st
At dd I=H
i 8
0| S ARE S5 S| 2ot JIE0

OFOIZSE0IJt &O0HH=

== MHIAS WS

MO

LH
501~
503#

LH4
502#

LH4
503#

9l

[ =]
=

LH4
801,802,
803



b JI
— =

QA

SIMIE]

v 121711

-

KT

rt
TH0

w| ol il orl
= S K ol
5 RO o
oF! 0 ol L1 Ulo
< LH k{0 =
o HO
LH =
) o
< U B
i 0
< all LH
1o [
™~ T
H0 & .
Hk o
2y
IA
= Ulu nH %0
Jl
Ho=
THO ol S
H =0 Mw
L
H]
Ho =
X L3
oL K
rnd
oF
&
&4_ - 10
E ™~
i) Al w8
WA oH ) H0 5 LHo
) WO D._ XT o ;AO
| - .&o = —
o KO 7
_..I N
= x
SR 2
. E ;AO (. g
19 %0 M i 5l
o = 0
M H o) -
Tl &l KO m
O r
OF OH 20
<+ =0

IMIE]

120012 X1

=
S

MEEELA =2 OIS 664-17, 3

MEEEL 8+ TS=E 552 =871

, 29 0224 09:00~21:00)

of
=]
=]

A 29112 09:00~18:00 (

ol s
= 9

%4
\. &2} 02-995-6800 / FAX: 02-995-6014

ol Ol ol
= X =2

10F
Ho

TS

D ey

SEOIEME]

4N
~TEd

MEf

II=E
=



